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rgb -> rgb* and CIE data of a elementary hue circle rgb -> rgb* and CIE data of a elementary hue circle Interpretation rgb > olv*and CIELAB data Interpretation rgb —> olv*and CIELAB data
according to CIE R1-47:2009 for photo printer according to CIE R1-47:2009 for photo printer for photo printer, printer separation olv* for photo printer, printer separation olv*
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TUB-test chart KE31; CIE data of SRGB dlsplay=0 to 40% input:w setgray
Colours of 16 step elementa[z hue cwcle and 5 grey steps output: no change compared to i




